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1. Find the following limits:
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(a)wll—l}go(n+1 n+2 +§ﬁ)
(o) lim (=—~7)
xl—l?) sinx x
2. Find the slope of the tangent line to the curve x? + xy — y% =1 at (2,3).
3. Evaluate [e*sinxdx.
4. Test the following series for convergence
@ Z n? +4
n=1
(o] 1 n
® Y (1+3)
n
n=1
5. Evaluate
1,1
J f x2e™ dx dy
0 vy
6. Find the radius of convergence and interval of convergence of the series
o (3x — 2)"
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Find the derivative
d V=
. tdt
e fo cos
Use the definition of uniform continuity to show that f(x) = x?
[0,1].
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Let f,(x) =<{—n?x?+2n S e,
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(a) Find lim,,_, f,,(x) foreach x € [0,1].

(b) Does f,(x) converge uniformly? Why?

Suppose f"' is continuous on (a,b) and f"” >0 on (a,b).
Show that f(tx + (1 —t)y) < tf(x) + (1 - t)f ().

is uniform continuous on

Let x,v€ (a,b), Lt €(0,1).




